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Note. Answer should be given in 800 to 1000 words. Answer all questions.
All questions are compulsory.

No obk

©

Section - A _
Qo - 3 fedaH 36 ¢ 18
Maximum Marks: 18

Briefly describe what are Special purpose registers and General purpose registers in CPU.
Why registers are present in the CPU.
I) Explain the following addressing modes with an example and suggest a use for those
addressing modes:
i. Register Indirect ii. Auto increment
iii. Indirect address iv. Base address
v. Indexed address
I1) Differentiate RISC Vs CISC.
What is input-output interface? Draw and explain block diagram of input-output interface.

Section—B

g — § 3ferpdd 3P : 12
Maximum Marks: 12

Note: Short Answer Questions. Answer should be given in 200 to 300 words each.
Answer all questions. All questions are compulsory.

What is the difference between isolated I/0 and memory mapped 1/0?

Discuss and Differentiate Hardware and Micro-programmed control unit.

Explain vector processing. What is the difference between vector & array processing?
Explain Flynn’s classification of computers. Expain how concurrency is implemented in
SISD?

What is the race around condition? How can it be overcome?

Write assembly language program to print the difference of the squares of 15 and 8 with only
one multiplications.
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Note. Answer should be given in 800 to 1000 words. Answer all questions. All

questions are compulsory.

Section - A

QoS - 3 31ferddH 3id

: 18
Maximum Marks: 18

1. You have three jug whose capacity are 8 liter, 5 liter and 3 liter, and no one jug is calibrated then
how can you divide 8 liter water in two equal parts.

2. Write down steps to create an excel spreadsheet for your daily expenses.
3. Explain in detail all the option on menu bar and tool bar of internet explorer.

A

Section-B

Hug — § 3fSrdda 3d - 12

Maximum Marks: 12

Note: Short Answer Questions. Answer should be given in 200 to 300 words each.

Answer all questions. All questions are compulsory.

What is DNS and how it works?
What is the purpose of web browser? What are the privacy and security features being provided

by web browsers?

LN

Explain the different types of charts available in MS excel.

How you can sum up the Rows and Column number quickly in the excel sheet?
What is IF function in excel? Explain with an example.

What are E-mail, FTP & TELENET? Explain their usage?
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Note. Answer should be given in 800 to 1000 words. Answer all questions. All

questions are compulsory.

Section - A .
Qus - 37 ferpaH 36 ¢ 18
Maximum Marks: 18

(@) What is an operating system? List the major Components / modules of a general purpose
operating system software.

(b) How is a process different from a program? What information is contained within a process
control block (PCB)?

(a) Explain the page fault handling routine in a computer system employing virtual memory.

(b) What are the necessary conditions for a deadlock to occur in a computer system.

Explain the difference between compiler and Interpreter. Write the names of two languages for
each used the compiler and interpreter.

Section-B

g — § 3fSrpda 3d : 12
Maximum Marks: 12

Note: Short Answer Questions. Answer should be given in 200 to 300 words each.
Answer all questions. All questions are compulsory.

Explain the following Unix commands:

(@) cp (b) chmod (c) sort (d) vi (e) Is (f) tee.

Explain the terms: Process Switch and context switch ? How are they related?

What is a Semaphore? Explain the wait and signal operations of a semaphore. Why are these
operations atomic?

Explain the following Unix command using suitable examples.

(@) pwd (b) man (c) less (d) whoami (e) who (f) grep.

Explain the page fault handling routine in a computer system employing virtual memory.

What are the criteria used for comparing various. CPU scheduling algorithms? Differentiate
between Preemptive and Nonpreemptive scheduling policies.
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Note. Answer should be given in 800 to 1000 words. Answer all questions. All
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Section - A _
Qus - 37 ferpaH 36 ¢ 18
Maximum Marks: 18

1. Suppose A is a header circular list in memory. Write a program in C which deletes the last node
from A.

2. Convert the following infix expression into postfix expression using stack.
(i) (a-b*(f+g * h)) * (d/e-f)
(i) (a+b1d)/(e-f)+g
3 Obtain the following traversal for the given tree:

(’ N

(¢ )
¢ nj\}@
)

>

e

()
(i) Inorder traversal (ii) Postorder traversal

Section—-B
g — § 3fSrpda 3d : 12
Maximum Marks: 12

Note: Short Answer Questions. Answer should be given in 200 to 300 words each. Answer all
questions. All questions are compulsory.

4. Find shortest distance between node A and E using Dijiktras algorithm

o

Explain Breadth First Search and Depth First Technique in graph?
What is hashing?. Explain Division and Mid-square method for hashing.
Explain Insertion and bubble sort with the help of example.

N o




8. What is linked list? Write its advantages over sequential representation.

9. Write a C function that accepts an integer as parameter and uses a stack to print all its divisors in
descending order.
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Note. Answer should be given in 800 to 1000 words. Answer all questions. All
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Section - A _
Qus - 37 ferpaH 36 ¢ 18
Maximum Marks: 18

. The tourism department wishes to computerize its data. The information consists of monuments of
tourist interest, their. Region and history. Monuments are classified according to historical, religious
and architecture importance. The list of facilities mailable at each sport is available. These give living
accommodation in terms of hotels, their names, category and the number of rooms available and local
transport facilities in terms of service provider name, tour with their tariff and timing.
(i) Draw an E-R diagram
(i) Transform the E-R diagram to a Relational Schema.
How do RDBMS provide ACID properties (atomicity, consistency, isolation, durability)?
What are the classifications of schedules based on recoverability? Explain the Relationship and
differences among these Schedules?

Section - B

s — § At b : 12

Maximum Marks: 12

Note: Short Answer Questions. Answer should be given in 200 to 300 words each. Answer all

questions. All questions are compulsory.

Let E1 and E2 be two entities in an E/R diagram with simple single-valued attributes. R1 and
R2 are two relationships between E1 and E2, where R1 is one-to-many and R2 is many-to-
many. R1 and R2 do not have any attributes of their own. What is the minimum number of
tables required to represent this situation in the relational model? Briefly explain how your
answer.

The relation schema Student_Performance (name, courseNo, rolINo, grade) has the following
FDs: name,courseNo->grade

rolINo,courseNo->grade

name->rolINo

rolINo->name

The highest normal form of this relation scheme is?

Consider the relation R(A,B,C,D,E,G) with functional dependencies given by

{AB->C, AC->B, AD-> E, B->D, BC->A, E-> G}. Consider the decomposition of R into
{AB, BC, ABDE,EG}.

a) Is this decomposition lossy or lossless? Explain why?

b) Is this decomposition is dependency preserving or not? Explain why?




Define the following with suitable examples.

(i) Entity integrity.

(i) Referential intregrity.

Explain different type of locking protocals for concurrency control. Which concurrency control
protocols ensure both conflict serialzability and freedom from deadlock?

Check whether the schedule is conflict serializable or not?

St R3(y); R3(2); R1(x); W1(x); W3(y); W3(2); R2(2); R1(y); W1(Y); R2(y); W2(y)
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Note. Answer should be given in 800 to 1000 words. Answer all questions. All

questions are compulsory.

Section - A .
Qus - 37 ferpaH 36 ¢ 18
Maximum Marks: 18

Explain the following:

a) Project b) Project scheduling  c) Critical Path

d) Milestones e) Checkpoints f) Project review.

What is strategic planning? Relate strategic planning to management control and operational
control.

With respect to purchasing and inventory control systems explain any three of the following:
a) Why do retail outlets carry inventory  b) Inventory carrying cost.

c) Procurement lead time d) Bill of material.
Section - B
s — § At b : 12

Maximum Marks: 12

Note: Short Answer Questions. Answer should be given in 200 to 300 words each. Answer all

e N

questions. All questions are compulsory.

Differentiate between decision table and decision tree.

What are the attributes of good analyst?

Explain the system development life cycle.

Distinguish between hierarchical structure and network structure.
Define Bench Mark?

What is brain storming?
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Note. Answer should be given in 800 to 1000 words. Answer all questions. All
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Section - A _
Qus - 37 ferpaH 36 ¢ 18
Maximum Marks: 18

Consider these statements:
“All hummingbirds are richly colored.”
“No large birds live on honey.”
“Birds that do not live on honey are dull in color.”
“Hummingbirds are small.”
Let P (x), Q(x), R(x), and S(x) be the statements “x is a hummingbird,” “x is large,” “x lives on
honey,” and “x is richly colored,” respectively. Assuming that the domain consists of all birds,
express the statements in the argument using quantifiers and P (x), Q(x), R(x), and S(x).
(i) How many bit strings of length 10 contain
(a) at most four one's
(b) at least four one's
(c) exactly four one's.
(ii) Determine the number of positive integers n where 15 <=n <= 100 and n is not divisible by
2,30r5.
For each of these relations on the set {1, 2, 3, 4}, decide whether it is reflexive, whether it is
symmetric, whether it is antisymmetric, and whether it is transitive.
2){(2,2),(2,3),(2,4),(3,2),(3,3), (3, 4)}
b) {(1, 1), (1,2), (2, 1), (2 2), 3, 3), (4, 4)}
) {(2 4), (4 2)}
d) {(1,2), (2,3), (3,4)}
e){(1.1), (2 2),3 3), (4 4}
£){(1.3),(1,4).(2.3), (2.4, 3. 1), 3, 4}

Section-B

g — § 3rferpdd 3P : 12
Maximum Marks: 12

Note: Short Answer Questions. Answer should be given in 200 to 300 words each. Answer all

4.

questions. All questions are compulsory.
Give an example of a connected graph as below:
(1) Eulerian but not Hamilton

(2) Hamilton but not Eulerian

(3) Neither Eulerian nor Hamilton.



What is the smallest number of people in a group, so that it is guaranteed that three of them will
have their birthday in the same month?

Show that p «» q and —p <> —q are logically equivalent.

What is the chromatic number of the following graph?

State and prove extended Pigeon hole principle. Using it show that 9 colours are used to paint
100 houses at least 12 houses will be of the same colours.

How many positive integers between 1 and 250 that are not divisible by any of the integers 2, 3
and 6?
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Section - A _
Qus - 37 ferpaH 36 ¢ 18
Maximum Marks: 18

1. Write short notes on the following: [6]
a. Hub
b. Repeater
c. Switch

2.  What do we mean by Multiplexing? Explain the three different types of multiplexing technigues.

3 Explain the OSI reference model with the help of a diagram. Give brief description of each layer
of the model.

Section—B

g — § 3ferpdd 3P : 12
Maximum Marks: 12

Note: Short Answer Questions. Answer should be given in 200 to 300 words each. Answer all
questions. All questions are compulsory.

4. Briefly explain the use of Bridges.

5. List the protocols used for host to host communication in the transport layer of TCP/IP model.
What are the important differences between these two protocols?

6. Differentiate between mutlicast addressing and Unicast addressing.
7. What is a parity bit? What is it used for? Explain with example.

8. What do we mean by class addressing and class-less addressing? Give the range of IP addresses
used in different classes in class addressing mode.
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Note. Answer should be given in 800 to 1000 words. Answer all questions. All

questions are compulsory.

Section - A _
Qus - 37 ferpaH 36 ¢ 18
Maximum Marks: 18

(@) Why has TCP /IP become a standard protocol for the Internet?
(b) Identify the address classes of the following IP addresses:

(i) 196.201.190.6 (i) 120.10.10 .77

(iii) 112.196. 112.19 (iv) 150.150.15.15
What is 3-way handshake mechanism? Also, explain how the mechanism is used for establishing
and terminating a TCP connection.
What are the limitations of IPv4 address classes? How are a large number of IP addresses wasted
using IPv4 address classes? What are the possible solutions to the limitations of IP addressing?

Section—-B

g — § 3ferpdd 3P : 12
Maximum Marks: 12

Note: Short Answer Questions. Answer should be given in 200 to 300 words each. Answer all

N o vk

questions. All questions are compulsory.

Why does lost acknowledgement not necessarily force the retransmission of TCP segment?

What is the minimum and maximum size of an IP datagram header?

What are the different types of criteria that can be specified using the Type of service field?

List the important domain names used in Internet. How does the name resolution take place in
DNS? Explain it with the help of a diagram.

ARP and RARP both map addresses from one space to another. In this respect, they are similar.
In what way do they differ? (3)

. Why do we need a DNS system when we can directly use an IP address? What are the three

domains of the domain name space? What is the purpose of the inverse domain?
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Section - A _
Qug - 37 iferpan 36 ¢ 18
Maximum Marks: 18

=

Discuss in detail the characteristics of an object oriented programming system. [6]
2. Discuss with examples how the two types of polymorphism namely compile time polymorphism

and run time polymorphism are achieved in C++. [6]
3. Write a C++ program to read the contents of a file and display it on the screen. [6]

Section-B

g — § 3ferpdd 3P : 12
Maximum Marks: 12

Note: Short Answer Questions. Answer should be given in 200 to 300 words each. Answer all
questions. All questions are compulsory.

Explain with the help of an example the difference between multiple and multi-level inheritance.
List the characteristics of a constructor

What is the use of a friend function? When are its characteristics?

What is the difference between UML structural diagram and UML behavioural diagram?

No o b
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Section - A
Qug - 37 iferpan 36 ¢ 18
Maximum Marks: 18

1. Discuss about the Arithmetic mean with its application and merits and demerits.
Also prove that the A.M. is not independent of change of origin and scale.
2. Discuss about the Disperson. Also Define its all measures of Dispersion in detail.

3. Discuss about the co-efficient of variation in the following data find which
series has less C.V.

Series A 5 9 12 8
Series B 7 12 19 10
C.1 10-20 20-30 30-40 40-50
Section—-B
g — § 3ferpdd 3P : 12

Maximum Marks: 12

Note: Short Answer Questions. Answer should be given in 200 to 300 words each. Answer all
questions. All questions are compulsory.

Discuss about Pie chart and Pictograph.

Give short notes on Geograph mean with its merits & Demonts.
Discuss about the Histogram and Ogive.

State and Prove combined property of the variance.

State and prove first property of the mean

NG
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Section - A
Qug - 37 iferpan 36 ¢ 18
Maximum Marks: 18

1. Discuss about the Linear Programming Also Define the different steps for Graphical solution
to LPP.

2. Discuss about the principle of simplex method. Also define non basic variable and artificial
variables.

3. Discuss about the different methods for the computation of an initial basic feasible solution.

Section—-B

g — § 3ferpdd 3P : 12
Maximum Marks: 12

Note: Short Answer Questions. Answer should be given in 200 to 300 words each. Answer all
questions. All questions are compulsory.

Discuss in brief about the Hungarian method.

Discuss about the basic assumption of two person sum- zero game.
Write a note on pay off matrix.

Describe the graphical method for 2 X n orm x 2 games.

No ok
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Section - A _
Hug - 37 ferpan 36 ;18
Maximum Marks: 18

de &Y IO 99T | 91 B 3109 IR 800 I 1000 Tt # ford | g wee sfard € |

Note: Long Answer Questions. Answer should be given in 800 to 1000 words.
Answer all questions. All questions are compulsory.

1. IRYAIA Ud WY H SRCIRRA & A8 $I adrsd | 6
Discuss the sole of dictation in hospital and community what is the principle of diet
therapy and plan a diet for a patient suffering from typhoid.

2. ITeRITATT W A FIT 93K &7 Seorgadd d Nfsd Ud wNo & et e JmeER arfelar a9—d | 6
What do you understand by hypertension . Plan a whole day diet for a patient suffering
from hypertension.

3. FRAIfPeig AMER 31 fade FINTT | MY 59 YeR e AMY 3MeR &I fafeedi smer # uRafda sl
JGTENUT SN HHISY | 6
Describe the impotence of therapeutic nutrition. How can you change a normal diet into
a therapeutic diet? Explain with example.

Section - B AfHad 3®H - 12
Yrs — '« Maximum Marks: 12
dIe : oY S U | Ul B MU Ik 200 W 300 WAl A ford | T e srfard ® |

Note : Short Answer Question. Answer should be given in 200 to 300 words.

All questions are compulsory

4. FHITI | UIYUT A& P ATIRISAT Ud AEd Bl dad1gy | 2
Explain the impotence and need of nutrition education in the community
5. 3MER e # sRIY. & 7 & fafay | 2
Write the impotence of RDA in diet planning .
6. TSR, T &7 §ER & I T A9l gRaci 8ld &7 2
What is BMR? What metabolic changes oceur during bewer.
7. A RO T g9 YR IRy | 2
Write douea the couses, symptans and treatment of tuberculosis.
8. WIE HHAUT FIT BT 87 T {6l TSR A9 & TReT WR YT STefdl &7 2
What is food contamination . how does it affect. The health of pesson?
9. AMER oM W v dfera feweft foRag | 2

Write a shout note on dietary management.
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Section - A _
Hug - 37 ferpan 36 ;18
Maximum Marks: 18

dic ;. e IR Ue | Ue WAl & S} 800 W 1000 weal # ford | W W e 2 |
Note : Long Answer Question. Answer should be given in 800 to 1000 words.
Answer all question. All questions are compulsory

1. W9 & IR ¥ PET & GBI, UrdH, R0 Ud IUART Bl {1y | 6
Discribe the classification of digestion, alesorption and assimilation of carbohydrates in
human body.

2. IER RN & g & Ry U (HeRaer &1 & SMER FRIe & g9Ifad &_+ aTel BR®I Bl
Sicicadl 6
Discuss principles of meal planning Explain the factors affecling the meal planning of an
adolescent girl.

3. UICH—ad1 FHUINY | T a9y 87 WRRAY R Faiaie” & BRI, AeI0], ga1d ¢d (819 H1 avi
I |

What is protein- calorie molnatrition discuss causes, symptoms, prevention and

treatment of Kwashiorkar and Marasmus in detail. 6
Section - B IfrHay AP : 12
g — d Maximum Marks: 12

dIe : oY ST U | TRl B MU Ik 200 W 300 WAl A ford | w4 e Srfard 7|
Note : Short Answer Question. Answer should be given in 200 to 300 words.
All questions are compulsory

4. IR H UCH D BRI BT ool BT | 2
Discuss the fuuetions of proteins in our body.

5. U 9113 ARG BT AER ARG Ay | 2
Write meal plan for a lactating woman .

6. Alcd 9§ URAT Teh Afad BT Ud QT &1 3MER e oy | 2
Mention a day’s diet for on obese adult.

7. U@ URAR & JMMER FAd & oY Aecaqul HRON B Ieoid DI | 2

Mention the factors for food selection for a family.

8. a1 # gorrefiar faerfd=l &1 am faRay vd S9a we@ & 9d18y | 2
Mention fat soluble rtamens ant their impostance

9. WIS EREATT RIT &? AISTINT & HReEl H $HS Ag<d Pl AHANZY | 2

Explain food preseuation and its impostance in presening vegetables .
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Section - A
Qug - 37 iferpan 36 ¢ 18
Maximum Marks: 18

1. Give a systematic account of renewable energy sources and related technologies.
TS wfda dareHl ¢q 9@ gienfiel &1 e oaeg v gwgal

2. Discuss the environmental impacts of energy production and its use & misuse.
FHoll IARA R 3D IUAIT AR FHUAT & gAiaReii gwral faad==m aifsg )

3. Suggest some suitable measures for social control of energy production distribution

& consumptions.
FHoll Icares fqaer ik SusHn & foy wrfoe FRIFT 39 €8 S gead |

Section — B

Qos - § Hitrpay 376 ¢ 12
Maximum Marks: 12

dIe : Y ISR US| 30 U & I} 200 ¥ 300 Feal # ford | w1 oyt arfard ® |
Note : Short Answer Questions. Answer should be given in 200 to 300 words. All Questions
are compulsory.

4 Point out the difference between reasonable & non reasonable sours of energy.
TAHT AR Tl ol sial # far WS S |

5. What do you mean by nuclear hazards? Explain.
ATofAd AR | A9 WU & ? WHSISA |

6 Point out the major cases of global warmap.
AHISCHT ST & g8 DRI Bl qargd |

7. Cloning up is a necessary condition for greening up of the environment. Explain.
gRauataR @ UBTE Ue Iawae fa € | aussd |

8. Illustrate the meaning of removable energy sources.
TR A/suaa-a ot aiat &1 sref geuse FHifrg |

9. Assume the impact of deforestation on mountain economy & its environment.
gddia refaraven iy SO yatawer w fAdNavor & 9919 &1 Ader g 7|
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Section - A
Qug - 37 iferpan 36 ¢ 18
Maximum Marks: 18

7 Define development and mention the necessity of sustainable development.
foera &1 aRfa ST e Jwaea faer &1 A dHdr &1 o™ BIfIg ||
2 What do you understand by desertification suggest suitable measures to overcome the

problem of desastrifaction.
AHEIATHIOT & ATT T G 2 | ASIav &) el 9 ffued @ Sugw su™

gsmgd |

3 Give an account of the major economic challenges in the present context.
gaaE Gl § w@ e gAifaar &1 faaver afeg )

Section-B

Qs - § 31ferpan 37b - 12
Maximum Marks: 12

e © oY ST UST | 370 U @ Sk 200 ¥ 300 Feal # fored | v g1 arfard w1
Note : Short Answer Questions. Answer should be given in 200 to 300 words. All Questions
are compulsory.

4 Differentiate between environmental education and environmental ethics.
ggiaRdrT R¥rer va gafRte smar—ere A fads sifvg 7

5 What is national park? Mention any four national park.
ded Uie F&m 2 | fHE aR uiel Sed@ Bt |
6 Write a note on the structure of the earth.
godft @ w¥aer wR fewefl fafad |
7 How has biosphere been formed?
SlquvsH ©W ToT 99T 27
8 Mention the types of resources.
U & UHR BT 9159 |

9 What is meant by demographic transition.
T SFEEAT WHAT A aadd 2



